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QUESTION 1

Which of the following descriptions about the InfoEqualizer features of the OceanStor 9000 storage system are
incorrect. (Multiple Selections)

A. Dynamic domain name, which returns the dynamic IP address of the node for the client, supports the failover function
and is recommended for CIFS protocol sharing

B. Static domain name, which returns the domain name of the node\\'s static external IP address to clients, is
recommended for NFS protocol sharing

C. dynamic external IP address, node failure, the dynamic IP address can be automatically assigned to other working
nodes, the client can pass again This IP address is connected to the OceanStor 9000

D. static external IP address, the node fails, the client can not access the oceanstor 9000 through the IP address

Correct Answer: AB

QUESTION 2
For Oracle database to do online RMAN physical backups, you need oracle to run in mode; To restore data files,
you need to start the Oracle (Fill in the blanks multiple choice)

A. Non-archiving
B. Archiving

C. nomount

D. mount

Correct Answer: BD

QUESTION 3

NTFS (new technology file system) is a windwos NT environment file system, on the NTFS file system, which of the
following arguments is not correct?

A. NFS design ideas include stability, security, support for large-capacity storage devices
B. NTFS will all the data is a file, the file system metadata is also stored as ordinary files

C. Each directory and file attribute information is included in the MFT, MFT records the name of the file and directory,
size, data storage location information

D. NTFS file space allocation unit is the sector, the default is 512 bytes

Correct Answer: D
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QUESTION 4

Dual-live solution: the optical fiber link between two data centers in the same city needs to be deployed with a
wavelength division device.

A. 10
B. 25
C.50
D. 100

Correct Answer: B

QUESTION 5

Using Oracle backup, which must be backed?(multiple choice) A. Data files
B. archive log

C. Control Documents

D. operating environment (listener tns pfile or spfil, etc.)

Correct Answer. ABC
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